/DVIRB

3RPLHV]F]HQLH 5RINiDG  $

7\J

7\J

6SUDZQRGii VSHFIDIQD Z VAXTEDFK
PXQGXURZ\FK GZ GUKDE SIRI 8-+

7\J

6SUDZQRGii VSHFIDIQD Z VAXTEDFK B
PXQGXURZ\FK (Z 3DZHi &XUJ\EVNL

£ SgUN-DFHN $ =3:)7/ 1 $  zszll QWP
(T
a 60 VISTHIDQH L SRGVIDZ\ VXUYLYDIX
= ~ 2GIRGHN /1GH
T
T
o ——
Y 6SUDZQRGI VSHFIDIQD Z
7)) VIXTEDFK PXQGXURZ\FK
4Z PJU*yiD 7RPDV]
$ $866/2:1$ 7
szl VP
7N 7N
A $GDSIRZDQD DNINZ\QRG( I]\F]QD L ™
= 87: PJ VSRUI RVYE QUHSHQRVSUDZONFK UZ G 87 =IQIDWN *PQDVIND (DE PJU
I *[J\ERZVN. VD $  z3) " & D$QQD $ %REWD -DFHN $ =3
T -DIRVIDZ $ 5/ 3
ﬁ 7\G]
$GDSIRZDQD DNNZ\QRGU IJ\F]QD L
VSRUI RVYE QIHSHIQRVSIDZONFK Z Gl
VS $  :3) " &
7N 7N 7\6] 7N
*PQDVIND (DE PJU 6SUDZQRGiI VSHFIDIQD Z 6SUDZQRGiI VSHFIDIQD Z )
%REDD -DFHN $ =3 VIXTEDFK PXQGXURZ\FK ViXTEDFK PXQGXURZ\FK 6SUDZQRGiI VSHFIDIQD Z
Y/ 3 0Z GUKDE SIRI 8-~ iZ GUKDE SIRI 8-= ViXTEDFK PXQGXURZ\FK
*DENG 7RPDV] $ = ZaVIN-DFHN $ -3 iZ GUKDE SIRI 8-=
3:)/ ,160 )/ 160 SaVIN-DFHN $ =3
)/ 160
7\G]
- *PQDVI\ND (DE GU §ZIDN 7DGHXV] $ ™
a1 :3:)/ 3 =
6SUDZQRG 6SIDZQRG( VSHFIDIQD Z
o) VSHFIDIQD VIXTEDFK PXQGXURZ\FK
Q Z ViXTEDFK 4Z  PJU*yiD 7RPDV]
2 PXQGXIRZ $ z5zI1 1QVP
FK UZ G
KDE SIRI
8_- "
*DENG
7RPDV] $
-3
D/
160
7N
*PQDVIND (DE GU §ZIDI 7DGHXV] $
=3:=)/ 3
~ 7\G]
I 60 "URJGHN ODRIHSV]D 7HUHVD $
>
ﬁ 7N
n SHNUHDFID UXFKRZD LQG\ZIGXDIQD GZ SIRI 7VRVSQDIRI $ =375/ &

W] NUCIH ZINJ

SDUN 1UDPSRIQ




/DVIRB

3RPLHV]F]HQLH 5RINiDG $ 7\J
7\G]
'(g' SHNUHDFID UXFKRZD LQG\ZLGXDIQD 1iZ
SURI 7VRV $QDIRW $ =375/
&
7\G] 7™ 7™
GU =URTGHN ODIRIHSV]D 7HIHVD $ ||[7V ™
87: P 6SUDZQRGii VSHFIDIQD Z 6SUDZQRGii VSHFIDIQD Z 87 - *DiDl
=DICFLD IHIHQRZH *UJ\ERZVNL ViXTEDFK PXQGXURZ\FK ViXTEDFK PXQGXURZ\FK %DUEDUD ,G]LDN
-DUIRViDZ $ iZ PJU*yUD 7RPDV] iZ GUKDE SWIRI 8-* (UTEHID $
7\G] $ $&6 6,/2:1,% Z| | = gVIN -DFHN PJU *ylUD
) Szt 1QVP 7RPDV] $  $&6
6SUDZQRGU VSHFIDIQD Z 6,/2:1% =3 :)/
VAXTEDFK PXQGXIRZ\FK 160 74
iZ PJU*ylD 7RPDV]
- $ 7Szl WQVP 7\6]
% =DICFLD RGE\ZDig V.C ZH 6SUDZQRGii
Q ZIRUHN VSHFIDIQD
n Z ViXTEDFK
PXQGXIRZ
FK 4z Gl
KDE SIRI
8-" zaViN
-DFHN PJU
*yD
7RPDV] $
$&6
6,/2:1%
=3:)/
,1 60
a 7N
& $GRSIRZDQD DNINZQRGI IL]\F]QD L VSRUI
L RVYE QIHSH:QRVSUDZQ\FK (D PJU
& OIRGHN 3UJHP\ViDZ $ =3 )7 =
NI
=

*LPQDVINND (DE PJU%REUD -DFHN $

t3:)5 -




